
Register  Number :

Name of  the  Candidate :

5 8 6 5
M.A. DEGREE EXAMINATION, 2012

( ECONOMICS )

( FIRST  YEAR )

( PAPER - III )

530. ECONOMICS OF STATISTICS

May ]                                        [ Time : 3 Hours

Maximum  :  100  Marks

SECTION-A (5 × 8 = 40)

Answer any FIVE questions.
ALL questions carry equal marks.

1. Explain in detail the method of collecting
primary data through ‘questinonnaire’.
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√z] á g√z] á g√z] á g√z] á g√z] á g (3 $ 20 = 60)

∞º>–D J[Æ J[Æ J[Æ J[Æ J[Æ s™V¬Ô”¬z sÁ¶Bπ¬Ô°D.

∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m s™V¬Ô”¬zD ƒ\  ƒ\  ƒ\  ƒ\  ƒ\ \]©ÿ√ıÔ^.

9. ˇµ¬ÔVbD sk´∫Ô‚z ÔV_\V™ xÁ≈l_ ºÔV‚¶¬

ÿÔø Ô¬˛|Ô.

Â| \]©A 115 125 135 145 155

∂ÁÈÿkı 6 25 48 72 116

165 175 185 195

60 38 22 3

10. ˇµ¬ÔVbD sk´∫Ô‚z ÷Ú ÿ>V¶ÏA º√V¬z

ƒ\[√V|ÔÁ·¬ ÔVıÔ.

X 6 2 10 5 9

Y 9 11 5 9 8

11. *flEÆ kÏ¬Ô xÁ≈ JÈD ˇµ¬ÔVbD sk´∫Ô‚z

ºÂÏºÔV‚|› ÿ>V¶ÏA º√V¬ÁÔ© ÿ√VÚ›mÔ.

kÚ¶D 1990 1991 1992 1993 1994
su√Á™

(000 ‘√Vl_) 38 40 65 72 69

1995 1996 1997

67 95 104
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2. Calculate the co-efficient of variation of the
following two series and show which series is
more reliable.

Weight in Kg 0-10 10-20 20-30 30-40

Class-A : f: 1 2 9 8

Class B:f: 1 3 7 8

40-50 50-60 60-70

5 4 1

7 3 1

3. Calculate Yule’s Coefficient of Association
between Literacy and Unemployment from the
data given below. Total adults: 2,25,000;
Literates:50,000; Unemployed: 17,000; Literate
and unemployed: 7,000.

4. Explain the meaning and importance of time
series.

2

5. ˇµ¬ÔVbD sk´∫Ô‚z kVµ¬ÁÔfl ÿƒÈ°

z§l‚ÿ¶ıÁ¬ Ô¬˛|Ô.

zø ®Á¶ >· Â¶©A

gı|  gı|

A 40 45 60

B 10 06 09

C 15 05 06

D 15 10 12

E 20 20 25

6. ŒÚ Á√l_ 10 EÔ©A, 5 ÿk^Á· \uÆD, 4 ¿È

√ÕmÔ^ c^·™. ƒˆƒ\ kVF©A ÿÔV|›m 4 √ÕmÔ^

®|¬Ô©√‚¶™.

(∂) 4 √ÕmÔ”D ¿È √ÕmÔ·VÔkD

(g) 1 EÔ©A, 2 ÿk^Á· \uÆD, ¿È© √Õ>VÔ°D

÷Ú©√>uÔV™ WÔµ>Ô° BVm?

7. xÁ≈BVÔ¬ Ìÿ≈|›>o[ Â[Á\, zÁ≈√V|ÔÁ·¬

ÌÆÔ.

8. ÷Õ]B© ÿ√VÚ·V>V´›][ A^π sk´ JÈ∫ÔÁ·fl

∑Ú¬Ô\VÔ skˆ¬Ô.
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SECTION-B (3 × 20 = 60)

Answer any THREE questions.
ALL questions carry equal marks.

9. Calculate measure of skewness based on
quartiles from the following data :

Mid-value 115 125 135 145 155

Frequency 6 25 48 72 116

165 175 185 195

60 38 22 3

10. Find the two regression equations from the
following data :

X 6 2 10 5 9

Y 9 11 5 9 8

11. Fit a straight line trend by the method of Least
Squares to the following data :

Years 1990 1991 1992 1993 1994

Sales 38 40 65 72 69

1995 1996 1997

67 95 104

12. What is meant by ‘family budget enqiry’?
Discuss briefly the method of construction of
cost of living index number.

13. Discuss the uses of Statistical Quality Control
and Control Charts.

> t w V ¬ Ô D> t w V ¬ Ô D> t w V ¬ Ô D> t w V ¬ Ô D> t w V ¬ Ô D

√z] á ∂√z] á ∂√z] á ∂√z] á ∂√z] á ∂ (5 $ 8 = 40)

∞º>–D nÕmnÕmnÕmnÕmnÕm s™V¬Ô”¬z sÁ¶Bπ¬Ô°D.

∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m ∂Á™›m s™V¬Ô”¬zD ƒ\  ƒ\  ƒ\  ƒ\  ƒ\ \]©ÿ√ıÔ^.

1. x>_ WÁÈ sk´∫ÔÁ·¬ ºÔ^s›>V^ xÁ≈l[

JÈD ºƒÔˆ©√>Á™ sk´\VÔ s·¬Ô°D.
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2. ˇºw ÿÔV|¬Ô©√‚|^· ÷Ú ÿ>V¶Ï sk´∫Ô‚z

\VÆs˛>¬ ÿÔø Ô¬˛‚| ®Õ> ÿ>V¶Ï

ÂD√Ô›>[Á\ cÁ¶Bm ®™ ÔVı∏¬Ô.

®Á¶ ( Kg l_) 0-1 10-20 20-30 30-40

kz©Aá∂  f : 1 2 9 8

kz©Aág  f : 1 3 7 8

40-50 50-60 60-70

5 4 1

7 3 1

3. ˇµ¬ÔVbD sk´∫Ô‚z √Ω©A¬zD,

ºkÁÈl[Á\¬zD c^· ÿ>V¶Ï∏Á™ Ro[

ºƒÏ¬ÁÔ¬ÿÔø xÁ≈ JÈD Ô¬˛|Ô.

ÿ\V›> Â√Ï 2,25,000.

√Ω¬Ô› ÿ>ÏÕ>kÏ ; 50,000.

ºkÁÈl_ÈV>kÏ 17,000.

√Ω›m ºkÁÈ ÷_ÈV>kÏ 7,000.

4. ÔVÈ› ÿ>V¶Ï  kˆÁƒl[ ÿ√VÚπÁ™•D,

x¬˛B›mk›Á>•D s·¬zÔ.
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5. Construct the cost of living index number for
the following data.

Group Weights Base Current
year  year.

A 40 45 60

B 10 06 09

C 15 05 06

D 15 10 12

E 20 20 25

6. A bag contains 10 red, 5 white and 4 blue
balls. If 4 balls are drawn at random,determine
the probability that

(a) All 4 are blue balls

and (b) red, 2 white and 1 blue ball.

7. State the merits and limitations of systematic
sampling.

8. Briefly describe the data sources of the Indian
economy.
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12. z|D√ k´°, ÿƒÈ° sƒV´Á ®[√>[ ÿ√VÚ^

BVm? kVµ¬ÁÔfl ÿƒÈ° z§X‚ÿ¶ıÁ \]©∏|D

xÁ≈ÔÁ·fl ∑Ú¬Ô\VÔ skV]¬Ô°D.

13. A^πlB_ >´¬ Ô‚|©√V‚ΩÁ™•D, Ô‚|©√¶V‚|

kÁ´√¶›][ √B[√V|ÔÁ·•D skV]¬Ô°D.
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12. z|D√ k´°, ÿƒÈ° sƒV´Á ®[√>[ ÿ√VÚ^

BVm? kVµ¬ÁÔfl ÿƒÈ° z§X‚ÿ¶ıÁ \]©∏|D

xÁ≈ÔÁ·fl ∑Ú¬Ô\VÔ skV]¬Ô°D.

13. A^πlB_ >´¬ Ô‚|©√V‚ΩÁ™•D, Ô‚|©√¶V‚|

kÁ´√¶›][ √B[√V|ÔÁ·•D skV]¬Ô°D.
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